f(x), 9(x), m(x)
fX¥)-g(x) m(x) f¥) a9 mx)
f(x) = g(x) (mod m(x))

(D) () = f(X) (mod m(x))

(2) £(x) = 9(x) (mod m(x)) = g(x) = f(x) (mod mM(x))

3 { f(x) = g(x) (mod m(x))
9(¥) = h(x) (mod m(x))

(4) £(x) = g(x) (mod m(x)) = f(x)" = g(x)" (mod m(x)) (n )

h(x) £ (x) = h(x)g(x) (mod m(x))

h(x) f(x) = h(x)g(x) (mod h(x)m(x))

= f(X) = h(X) (mod m(x))

(5) f(x) = 9(x) (mod m(x)) = {

. { f(X) = g(x) (mod m(x)) { f(X) + h(X) = g(X) + k(x) (mod m(x))
—
h(x) = k(x) (mod m(x)) f(X)h(X) = g(x)k(X) (mod m(x))

f(x) = g(x) (mod m(x)) f(x)  m(x) g(x)  m(x)
f(X)
m(X) r(x) f(X) = r(X) (mod m(x))
mx) = x°-x-1 X" m(X) PnX + On
{Pn}  {Qn}

P X2 = X+ X o0 d

A p0:09 pl:l e e
. qo:l’qlzo




X2 = PriaX + Ons2 (Mod M(X))
Xn+1 = pn+1X + c1n+1 (mOd m(X))
X" = ppX + gn (Mmod m(X))

Xn+2 - Xn+1 - Xn = (pn+2 - pn+1 - pn)x + (qn+2 - qn+1 - qn) (mOd m(x))

Xn+2 _ Xn+1 —_ X" = Xn(X2 — X = 1) — x”m(x) Xn+2 _ Xn+1 —_ X" =

0 (mod m(x))
(Prv2 = Pr+1 = Pn)X + (Gne2 = Onez — On) = 0 (mod mM(x))

(Pn+2 = Pr+r = Pn)X + (Gns2 = Onez — On) m(x)
(pn+2 - pn+1 - pn)x + (qn+2 - qn+1 - qn) 1 m(x)
(Pn+2 = Pr+z = Pr)X+ (One2 = Onez — Cn) 0

Pri2 = Pnsr — Pn = 0
On2 = Oner — On = 0

{pn} {Qn} a n=20 xX"=1
m(X) 0-x+1 Po=0, =1 n=1
X" =X m(X) 1-x+0 pr=1 . =0 /]
X2 = Xnu1 + X%, % =0, x;=1 {Xn} n
X' X2 —-x-1 PnX + Qn {Pn}

" Pn+2 = Pns1 t+ Pn

"Po=0, pr1=1

X'= (¢ - x=1Dg(X) + poX+q ---d



X¥-x-1=0 2 a, B a

a" = pha + ¢

B"=pB+4
~ Cyn_ﬁn _ a,n_ﬁn
Pn = o Xn = o //
Dx"-nx-3 mX)=x>-x-1 n 5

(2 x"-3x-n mX)=x>-x-1

X m(X)=x-x-1 PnX + Oy

Pri2 = Prsr+ Pn -0 4
On+2 = On+1 + On @

Pp=0 pp=1---3
qO:]_, Q1:O“'@1

(1) X" = pnx + 0 (Mod M(x))

X" = nx — 3 = (pn — NX + (q, — 3) (mod m(x))

X"—nx-3  m(X) (pn— N)X+ (gn — 3) = 0(mod m(x))

(Pn — N)X+ (Gn = 3) 1 m(x)
(pn_ n)x+(Qn_3) =0

ph=n---3
qn—3®
n @ a
n(|0/1/2|3|4|5|6
O |2(0|1|1]2]3]|5
{gy nNnz=3 n=>5 Oh =3



Ph||O011]1|2(3]5|8

n=>5 pn=n n=>5
2 (1)
pn_3 &
qn—n' @
n ph=3
n:4 q4:2 n:4 qn?&n
n /l
X*-x-1=0 2 a, B X" —nx—3=(X*-x-1)g(x) X=a, B

a"-na-3=0, B"-nB-3=0

ad"=nae+3---d

f=mg+3 @
Axe@ o= (na+3)(nB+3)

(aB)" = n*eB + 3n(a + ) + 9

a+p=1 aof=-1



